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2. Conrtruction tlorko6 (in tho old day.) l,vould light. bngtl| ot'"tu.o" on

firr whlch sould bum toward dymmlb .rd axPlode iL For fulo6 cut
to ton motet! In laogth, the tinor botw.en lightng tl'. frtaoa anal ttla
lub.€quoit orploalom rvor.gb 3.5 mlnutaa with I stendard dcvhton
of 0,25 mlnutas (tor fu3a mlt rial Aom tho old tupPllor).

Fut€ matgdal hom a now auppliet afiivga at yoor oolEtruc&n aib' To
i.st OF behavlor ot thla m!i.tl.l, you ..ndolnly Beloct 50 rec'don , aich
l0 |natart long and r.cod how l,ong Ot.y bum, Fo. youl aanplo, thG
maar burn dnte ia 3.16 mlnuLr wtlh a aampla rtandad d€Yi.tlon of 0.,18
mlnuto..
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3lali80c8 300
Qulr *9

(8 poirtB : 15 minlnes)
3. A ggotoglrt b learchlng lor inimral dapo.ita lhat ars alch emugh to bo mlnad profitibly.

One arra ls €ap.cielly p|o|nlling, bocauro thr aveago mlnar.l contlnt ia 380 g..ma of
minorrl llor ev.ty cuuc m.L. of o6tlh. The st ndtrd daYt ton of tfte ninorrl conLnt
per cublc met r l3 98 gram!.

Ot cou6e, llre minlng cofrpany doeq not knon, the 'rtntlh" about lha rninoial contani ot
lhe arba. The conpaoy will t ke aampl6 and will dan minlt8\oPer.tiona lf lh. eve.ega
mln n l conbm hd€ s.mph.ll gr.at rO|rn350gram8. ltilgFmd€3 ol oar0r (o.ch on
cublc meter) a|g randomly roloctad, wtlat ia the probrbilfty tml the company wlll bogln /
mining opr.{orE? . i,: L; l,,l'n 4
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of 18.77. Conrid.r lhe di3flbution of ell po3llbb tr|nplo moam forn r.mphc ot 3Ee 8.
aleno|mine thc 5S petcerdle ol thls aampling dlat{bn0on.
(Hif : You have not scen lhis type of probLm in cta* or in thc taxtbook. Work fom what you)
know to what you do not know. Finally, solve for the requ€ted pqcet ile of the 'bampling
dbfibulion, not the odginal di3tribulion ot ,X".)
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